Teacher reads out a value for each letter then student calculates the value of the expression.
	A = 
	A + 3
	

	B = 
	2 x B
	

	C = 
	C – 6
	

	D = 
	2D
	

	E = 
	E + 4
	

	F = 
	3F
	

	G = 
	2G + 3
	

	H =  
	3H – 2
	

	J = 
	3 x (J + 1)
	

	K = 
	2 x (K – 3)
	

	L = 
	4L + 3
	

	M =
	M – 6
	

	 N =
	2N + 5
	

	P = 
	3(P + 3)
	

	Q = 
	Q2
	

	R = 
	2 x R – 3
	

	S = 
	3S + 2S
	

	T = 
	T2 – 4
	

	U = 
	(U + 2) x 2
	

	V =
	4V - 7
	

	W = 
	(W – 1)2
	

	X =
	3X + 1 + 2X
	

	Y = 
	Y – 3 + Y
	

	Z = 
	6 – Z + 2Z
	


Solve each equation and write down the value for each letter

	A = 
	A + 3 = 7
	

	B = 
	2 x B = 10
	

	C = 
	C – 6 = 4
	

	D = 
	2D = 12
	

	E = 
	E + 4 = 5
	

	F = 
	3F = 30
	

	G = 
	2G + 3 = 11
	

	H =  
	3H – 2 = 4
	

	J = 
	3 x (J + 1) = 15
	

	K = 
	2 x (K – 3) = 12
	

	L = 
	4L + 3 = 23
	

	M =
	M – 6 = 0
	

	 N =
	2N + 5 = 11
	

	P = 
	3(P + 3) = 21
	

	Q = 
	Q2 = 16
	

	R = 
	2 x R – 3 = 13
	

	S = 
	3S + 2S = 20
	

	T = 
	T2 – 4 = 5
	

	U = 
	(U + 2) x 2 = 18
	

	V =
	4V – 7 = 17
	

	W = 
	(W – 1)2 = 9
	

	X =
	3X + 1 + 2X = 21
	

	Y = 
	Y – 3 + Y = 9
	

	Z = 
	6 – Z + 2Z = 10
	


Equation Bingo – Pick 5 numbers between 1 and 10, teacher then reads out equations 1 to 10 in the order given, pupils solve and cross off numbers they have.

	1
	A + 6 = 11
	A = 5

	2
	2B = 16
	B = 8

	3
	3C + 5 = 8
	C = 1

	4
	D – 3 = 1
	D = 3

	5
	E + 4
	E = 7

	6
	2F – 1 = 7
	F = 4

	7
	2G + 3 = 7
	G = 2

	8
	H ÷ 2 = 3
	H = 6

	9
	J + 7 = 16
	J = 9

	10
	K ÷ 5 + 1 = 3
	K = 10

	 
	
	

	Equation Bingo – Pick 5 numbers between 1 and 10, teacher then reads out equations 11 to 20 in the order given, pupils solve and cross off numbers they have.


	11
	2N = 12
	N = 6

	12
	2P – 1 = 15
	P = 8

	13
	Q2 = 4
	Q = 2

	14
	2 x R = 14
	R = 7

	15
	3S + 4 = 13
	S = 3

	16
	T2 = 100
	T = 10

	17
	4U – 3 = 1
	U = 1

	18
	4V = 36
	V = 9

	19
	2W + 2 = 10
	W = 4

	20
	6X = 30
	X = 5


